Jooooouoouooooon
gooooon
gd o

gboboooboooobooobooboboobobooobo
gobooboobooobobooboboobooboon
goo0oobooooooooooooooooobo
gbobooooooboboooboooboobbooobo
gboboooboooobooobooboboobobooobo
goooooboooboobon

20 [T puE T REST ] 200

i R —

. ™ ]
RSN 0 N -
210 A / \\ I“U’ 100 @
m80.8 500000 0 o
#20.6 1 50
0.4

0.2

00 0

S45 S50 S55 S60 H2 H7 Hi2
gi0o0ooooooOoO0OOOOCOOCOOoOoOOo

goood

102001000

1HO0Ooooo
00000000000000000000000020
0000000000000000000000000
200105000110000003070000000000
0000000000000000000000200105
00011000000000000000000000
0000002040

200000
00000000000000000000000000
00000000000000000000000000
0000000000000

300000
00000000000000000000000000
00000000000000000000000000
00000O00o00o

n+aEm e Iy

..-"'“‘b,-"ll

_.J'h_
— -
Tt e GERR)

20km

Taw
r

(I
i

0200000000000000

- 137 -

@ KRB TE Hh =

WERFAEM R

£/ HBKE

g30ooooooooooooobooog
REFRERE R

| M

b

—~

e T
-\H'.

!

|

gl ®

A EE

O JKRAIEH R 2km
040000000000 0DOOOO

RN

102001000

1)0O0000
00000000000200105000110000000
0070100000034000000000000022
000O00024kgd000000000O00O0O00O0
0000000002050020005000 00000000
0000000016700 0000263kgd 000000
1020

200000

0000000000000 0000000000000
43.0cm0 24.40 60.4cm0 0 0 0 0 0 98¢0 110 252g0 0 O
00000000000000000005.600408
00000000040000000000000000
O0000O0000.1900006400000000000
000000000000000S07090
000000000000 00000000000000
047.9cm0 33.70 82.5em0 0 0 0 0 O 157g0 410 8520
O40050em0 0000000000000 0003.9002
0o00O00205000000000000000000
0000230001.7400070 000000000000
000001.00000000100110030000000
0000000000000 0000000000000
0000000006080 100

V0000
00000000000000000s5011000000
0000000 110120000000000000000



ggzoeotbirob2770gpobooooboooonbon
21200 14.002650000000
gboobobobobooboobooboobobobedston
gobooobooooboccoobbooobbooobo
goobgbebgobgbobobobobobobo

gooooooiisbi4gn

o1020010 000000000000

00 00 000000000 000 00000 OO0
O 00 0000¢0) (k) O¢em) 0( 00 000
5 770 1 01 476 106 60 011
6 5 50 5 07 495 145 63 031
7 6 60 8 08 406 84 45 017
3 5 46 3 03 - - - -
9 4 32 4 04 405 84 40 009
10 323 101 454 110 70 027
11 4 28 0 00 - - 39 -
O 34 300 22 24 447 106 53 019

gz020010 000000D000DO0ODO

og 0o 00 000 000 OoO0oO0 000 00 oo
O gooooo (@) (ko) O(cm) O 00 000
5/14 3 300 25 40 474 159 44 023
6/12 5 500 41 43 439 105 37 014

7/3 4 400 11 19 513 174 34 032
8/17 2 200 17 33 521 194 29 033

9/3 4 400 23 68 570 295 48 034
10/4 3 300 25 32 458 126 38 023
11/1 3 300 25 29 445 114 39 020

O 24 2400 167 263 489 167 38 026

20 20010 O

015

O 10 N=16

o S ‘

EI 1

O o y Y i

0 30 40 50 60 70
0O00cmO

gs0000oo0o0oOoooooooooobooo

1
gg 20010 0O O
N=167

50

25

0
0 30 40 50 60 70 80

O00dcemD

ge0oo00oO0oOo0o0ooOoooOoooobooboon

10 WO000000NS —
2001

O

0 5

(]

O

O 0

= 0 1 2 3 4 5 6 7 8 9 10

oooo
g7booooboboobooon

60
2001

BOO0000OMNIeS—

40
20

gooooo

0

gooo
gsooooOooooooooo

- 138 -

0.8 20010 O 0 N=16
0.6 T
[92)
& 0.4
0.2 .//.\\{ /.
0-0 1 1 E/ 1 ]
(0.2) u
4 5 6 7 8 9 10 11
geoooooGsSIOnoonoonoooon
0.8 [ 20010 0 O O N=167
0.6 T
- T | | T
& 0.4
© 0.2 L T
’ \r ! - JI_ |
0-0 T p =y T T T 1
(0.2) =
(0.4)
4 5 6 7 8 9 10 11 DO
Oo1000000GSIDO0DO0OODOO0000
o 30
O 25
O 20 N '
D .
o 15
10
5
O T T T T T T T

5/2 6/1 /1 7/31 8/30 9/29

OMooooooooooooo
30

10729 11728

O

025
020
O
015
010
O
5 5
0 T T T T T T T
5/1 5/31 6/30 7/30 8/29 9/28 10/28 11/27

0120000000000000

3 ———— ®™O0oco
2001 DoDoooo

cooo A
ooo

2.5
2
1.5

Ooodmo

1 OCO-O r]

0.5

0
5/1 5/31 6/30 7/30 8/29 9/28  10/28 11/27

o130 ooooooooooooooog

o r N W >~ 00 O

5 -
2001
4 o 40

ooomO

0 5/1

5/31

6/30 7/30 8/29 9/28 10/28 11727

01400000000000000000

gooooo

gooooo



2001999-20010 00000 0OODO
goooooboooooobo
gi1o9obi20010 000 000DOO0OODDOOODOO
ON=650 000 [042.4cmlJ 24.40 60.40 O O O O O 960
glig6400040050cmD 000000 O0OODOOOO
goobooiisoboobogogoosgnrzoooooboon
goboooooooobowboboooboooboboooobo
410 0N=6100D00O000O4000000000O1000
gboboooboooobooobooboboobbooobo
podoogoooN=s200000o0.170000.700 00
gobostebO0oobOOOOobOOoOobOOOOOOOOOn
gobodo2igoboooobooobobooobboooobo
gbobooooooobooobooboboobobooobo
goboooobooobooobboooobo23bo2son
gboboooooooo2rgoboooobooooboboooobn
gboooboboooboboooboboobo
20000000000D000
giloooni20010000000DOO0ODDOOODOO
ON=2530000048.5emd31.5089.00 000001670
270 L4000 00og4odsoemtddnodled
goosonoobooooboor7oosooboobooonoito
gobooooboooooooboboOoON=2400000
jgoiiogbooooooon40oboobooz200bonog
gooON=253000000240001.740 00002000
gooboboboo7boboboboobooooboo
roggpooobo3sgooooooo220b00booon
gboboooooobooobooboboooobboooobo
gbobooooooboooboooboobbooobo
gobobob24f2e00000000O00OODO28000
gobooooooboooboobobooboboooobo
goooooon

100 [ 1999-20010 O -
N=65

il

0 30 40 50 60 70 80 90
0ooddcmd

o150 00000000000000000O

gooooo

N Do
© coo o

100 1999-20010 O — W \N=253

80
60

40
20
0

0 30 40 50 60 70 80 90
O000dcmd
o160 0000000000 DOOoOooooOoO

gooooo

- 139 -

100
50

100
50

100
50

100

0 50

100
50

100
50

100
50

100
50

100
50

100
50

100
50

100

100
50

100
50

100
50

o8 JY 50
B —
rmN=12 60
- =l 0
r@N=13 70
— ... @
r@N=15 80
:— t t t t
r®N=13 90
—

|'.N=4

l

0 30 40 50 60 70

000cmO

O17000000000000OD
0o1999-20010 00 00OOCODODO

— WN=54 50
—!—L t + +

— WN=74 60
—* —

— WN=15 70
B WSS

— WN=17 80
—|—h—|—|—|
— WN=29 91
r W \=28 100

e

—m  N=36

i

0 30 40 50 60

70
000cmd

o180 000000o0oooogon
0o1999-20010 000000000



50 [ 1999-2001C1 W \=61 — 0.0852%
5 40 100y = 34.978e 1999-200100 0 O
O g0 | RP=0.485 s o
O 30 (| o/o
O
5 20 o 60 . =
O 10 O I L—’f *
O 40 7 !
0 2o
0 1 2 3 4 5 6 7 8 9 10 ®*  N=245
DDDD O 1 1 1 1 1 1 1 1 1
01900000000000000000000 0 1 2 3 4 5 6 7 8 9 10
. ooono
50 [ - L
O 1999-20010 0 N=240 024000-00000000000
o 40
g 30 ) _
5 % 1.2 [y - 02053260_103“ 1999-20010 O
B 10 o 1.0 R? = 0.1152
0 0o0.8
O ® N=64
0 1 2 3 4 5 6 7 8 910 0 0.6
oooo S 0.4
02000 000000000000000000 0.2 s o+ °
o 0 1 1 1 ]
1.0 2000-20010 AV=0.17 0 1 2 3 4 5 6 7 8 9 10
0.8 N=52 ooood
_ 0.8 025000-00000000000
® 0.4
0.2 N B _
0.0 — 1.2 17y = 0.0444e%%2 ~ 1999-200101 00
o1.0  R?=0.4847 —m0m——
O * N= L
Do N=245 .
4 5 6 7 8 9 10 11 12O Oo.s ° . o
02100000G6GSI000o0ooooog (i H * *
00.4 v
° []
0.2 |  § 0
1.0 [ 2000-200100 — AV=0.27 Ly
0.8 N=253 0.0
0.6 01 2 3 456 7 8 9 10
= 0'4 o000
"0'2 026000-00000000000
0.0
(0.2 = o 1.0 [ 1999-20010 0 7y o g7y 3200
(0.4 0 0.8 [ N=64 ————— R’ = 0.9404
4 5 6 7 8 9 10 11 12 O O
O 0.6
02200000GSID000O0O0O0OOO O 0.4
= o
0.2 e
100y - s sagerin 0.0 N N
O y _Rz 20 16168 1999-20010 0 0 10 20 30 40 50 60 70 80 90
o8 [ o oooooo
geo 0 % — 02700000000000000
°

O .
o4 T ¢
L] —
. : 1999-20010 01 1
20

1.0
* N=64 g 0.8 [ N=245 / Ny
0 E— O 0.6 [y = 2E-07x > /
01 2 3 45 6 7 8 9 10 2 0.4 [ RY=0.9505
nooo 0 0.2 ’M’f*f
J23000-000000000D00O0O 0.0 ! ! ! ! ! ! ! ! '

0 10 20 30 40 50 60 70 80 90
oooooo

g2800000000D00O00ODOOO

-140 -





